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BP9 - 5327 HEH= FERKLE HEH= WERKLE I
(t-CO2) (%) (t-CO2) (%)

ast 226,974 100% 99,290| 100% 56%
FEEZESBP 91,762 40.4% 42,211 42.5% 54%
T OMERPY 34,026 15.0% 12,249 12.3% 64%
KIEELBPY 40,495 17.8% 17,818| 17.9% 56%
EEIEPPY 59,898| 26.4% 26,355| 26.5% 56%
RENDE (—HFEZEY) 792 0.3% 657 0.7% 17%
HMIRINE 18,689 16,085
FMIRINEZNIRUIZ IERBER 2 208,285 83,205 60.1%
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BTRLE 102013 EHHE THELLES = AL
IR (tC02) BIRE PIDE (1-CO2) e IR (t-C02) Rz
ait 100,910 56% 105,727| 53% 127,322 43.9%
EESEERPY 42,211 549, 44,963 51% 57,259 37.6%
HEIRZOMELRPY 12,249 64% 12,930 62% 16,571 51.3%
KEEPY 19,438 52% 19,033 53% 13,647 66.3%
EEERPY 26,355 56% 28,152 53% 39,053 34.8%
RENAT (R 657 17% 629l 18% 292
RN (RIERE) 16,085 16,085 16,085
FMIRUREZNNRUIZIEREEH 2 84,825 59.3% 89,642 57.0% 111,237 46.6%




